Q-14.

Q-15.

Q-16.

h particle of mass 8
). Find the position

Centre of mass of three particles of mass 2,4 & 6 gram is at point (1,1,1). If fort
gram is added to the system than centre of mass position is sifled to point (3,3,3
vector of forth particle.
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OR
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Calculate the pressure inside the liquid drop.
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Explain Bemoulli's theorem.
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OR
g3
Prove that fag :-
y=2(1+0)
Where symbols have their standard meaning,
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n for inertial frames moving with constant velocity.

Derive the Lorentz transformatio
mwamﬂaﬁaﬂmémaﬁawmwaﬁm.
OR

Y41

A particle of mass s is thrown vertically upwards. Calculate its deviation from vertical path due to

coriolious force.
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